Word Problems (Multiplication & Division)

Solve the following word problems.

1. Ted buys 3 books at the book store. Each book costs S8.
What is the total cost of the books?

2. Seven children share 28 marbles equally. How many marbles
does each child get?

3. Eighteen eggs are equally packed into 6 boxes. How many
eggs are in each box?
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Word Problems (Multiplication & Division)

Solve the following word problems.

1. Ted buys 3 books at the book store. Each book costs S8.
What is the total cost of the books?

S24

2. Seven children share 28 marbles equally. How many marbles
does each child get?

4 marbles

3. Eighteen eggs are equally packed into 6 boxes. How many
eggs are in each box?

3 eggs
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